

© 2012 Foodhandler Inc. Printed in USA. FHBAGAPPCAT 0312

# **INNOVATION** THAT WORKS AS HARD AS YOU DO.



Successful foodservice operations have two things in common: skilled professionals who are dedicated to their craft, and quality supplies they can depend on for superior performance and protection, day in and day out.

That's where FoodHandler® comes in. We are the established experts in safe food handling, offering a full line of disposable gloves, apparel, food storage and cooking bags. Our innovative solutions are designed to minimize the risk of food contamination while enabling foodservice workers to be safe, comfortable and productive.

From the unsurpassed quality of our product lines to our leadership in food safety, FoodHandler provides the full range of resources you need to keep your business protected.



### **FOODHANDLER® BAGS**

- **DOUBLE TRACK RECLOSABLE BAGS**, Low Density (LDPE)
- **SINGLE TRACK RECLOSABLE BAGS**, Low Density (LDPE), Flat Pack
  - **FOOD STORAGE BAGS**, Low Density (LDPE), Flat Pack
  - **FOOD STORAGE BAGS**, Low Density (LDPE), Roll Pack
  - **FOOD STORAGE BAGS**, High Density (HDPE), Flat Pack
    - **SANDWICH BAGS**, High Density (HDPE)
    - **DELI BAGS**, High Density (HDPE), Saddle Pack
    - **SNACK BAGS**, High Density (HDPE), Saddle Pack
      - **BUN PAN & RACK COVER BAGS**
  - **SILVERWARE BAGS**, High Density (HDPE) & Low Density (LDPE)
    - PAN LINERS, High Density (HDPE), Flat Pack

# PAN PALS® HIGH HEAT PAN LINERS AND OVEN BAGS

- PAN PALS® NYLON HIGH HEAT PAN LINERS, Flat Pack
- PAN PALS® NYLON HIGH HEAT ROUND PAN LINERS. Flat Pack
  - PAN PALS® NYLON HIGH HEAT OVEN BAGS

# FOODHANDLER® APPAREL

- **POLY APRONS** 
  - **POLY BIBS**
- **HAIRNETS & BOUFFANTS**

# **FOODHANDLER®** ACCESSORIES

- TABLE COVERS
  - RACKS

# **FOODHANDLER®** THE FOOD SAFETY EXPERTS

THE FOOD SAFETY EXPERTS

# FOODHANDLER IS THE CLEAR CHOICE IN FOOD STORAGE

For pre-portioning, cooking and storage, FoodHandler® bags deliver unsurpassed convenience and versatility. Designed for strength and durability across a variety of applications, these innovative time-savers can stand up to the rigors of busy foodservice operations.

In addition to reducing risk of contamination, FoodHandler bags can save labor costs by simplifying cleanup — and improve HACCP compliance by keeping grease out of the drains.

#### **DOUBLE TRACK RECLOSABLE BAGS**

Low Density (LDPE)

- Convenient write-on block
- Strong seal for protection
- Safe to refrigerate or freeze



| ITEM #  | DESCRIPTION                           | SIZE        | CASE PACK | TOTAL UNITS |
|---------|---------------------------------------|-------------|-----------|-------------|
| 20-FH40 | Double Track Reclosable Bag, Pint     | 6" x 6.5"   | 1 x 500   | 500         |
| 20-FH50 | Double Track Reclosable Bag, Quart    | 7" x 8"     | 1 x 500   | 500         |
| 20-FH60 | Double Track Reclosable Bag, Gallon   | 10.5" x 11" | 1 x 250   | 250         |
| 20-FH70 | Double Track Reclosable Bag, 2 Gallon | 13" x 15"   | 1 x 100   | 100         |

# SINGLE TRACK RECLOSABLE BAGS

Low Density (LDPE), Flat Pack

- Wide selection of sizes for food fit
- Safe to refrigerate or freeze
- Reliable closure



| ITEM #   | DESCRIPTION                 | SIZE      | CASE PACK | TOTAL UNITS |
|----------|-----------------------------|-----------|-----------|-------------|
| 021-0406 | Single Track Reclosable Bag | 4" x 6"   | 10 x 100  | 1000        |
| 021-0606 | Single Track Reclosable Bag | 6" x 6"   | 10 x 100  | 1000        |
| 021-0608 | Single Track Reclosable Bag | 6" x 8"   | 10 x 100  | 1000        |
| 021-0808 | Single Track Reclosable Bag | 8" x 8"   | 10 x 100  | 1000        |
| 021-0912 | Single Track Reclosable Bag | 9" x 12"  | 10 x 100  | 1000        |
| 021-1012 | Single Track Reclosable Bag | 10" x 12" | 10 x 100  | 1000        |

#### **FOOD STORAGE BAGS**

Low Density (LDPE) Flat Pack

- Multiple sizes for storage needs
- Easy to use
- High level of clarity



| ITEM #  | DESCRIPTION                 | SIZE          | CASE PACK | TOTAL UNITS |
|---------|-----------------------------|---------------|-----------|-------------|
| 20-6315 | Food Storage Bag, Flat Pack | 6" x 3" x 15" | 1 x 1000  | 1000        |

#### **FOOD STORAGE BAGS**

Low Density (LDPE) Roll Pack

- Multiple sizes for storage needs
- Convenient roll-packs
- High level of clarity



| ITEM #      | DESCRIPTION                                       | SIZE               | CASE PACK | TOTAL UNITS |
|-------------|---|--------------------|-----------|-------------|
| 20-FS1014   | Food Storage Bag, Roll Pack                       | 10" x 14"          | 1 x 1000  | 1000        |
| 20-F\$10824 | Food Storage Bag, Large, Poultry / Ham, Roll Pack | 10" x 8" x 24"     | 1 x 200   | 200         |
| 20-FS12830  | Food Storage Bag, Large, Turkey, Roll Pack        | 12" x 8" x 30"     | 1 x 200   | 200         |
| 20-F\$1824  | Food Storage Bag, Large, Utility, Roll Pack       | 18" x 24"          | 1 x 200   | 200         |
| 20-FS4212   | Food Storage Bag, Quart, Roll Pack                | 4" x 2" x 12"      | 1 x 1000  | 1000        |
| 20-FS428    | Food Storage Bag, Pint, Roll Pack                 | 4" x 2" x 8"       | 1 x 1000  | 1000        |
| 20-FS5419   | Food Storage Bag, Bread, Roll Pack                | 5.5" x 4.75" x 19" | 1 x 1000  | 1000        |
| 20-FS6312   | Food Storage Bag, Utility, Roll Pack              | 6" x 3" x 12"      | 1 x 1000  | 1000        |
| 20-FS6315   | Food Storage Bag, Meat, Roll Pack                 | 6" x 3" x 15"      | 1 x 1000  | 1000        |
| 20-FS69     | Food Storage Bag, Utility, Roll Pack              | 6.5" x 9"          | 1 x 1000  | 1000        |
| 20-FS8315   | Food Storage Bag, Poultry, Roll Pack              | 8" x 3" x 15"      | 1 x 1000  | 1000        |

#### **FOOD STORAGE BAGS**

High Density (HDPE), Flat Pack

- Convenient size offering
- Easy to Open
- Printed options for takeouts or leftovers



| ITEM #     | DESCRIPTION                                 | SIZE             | CASE PACK | TOTAL UNITS |
|------------|---|------------------|-----------|-------------|
| 20-12      | Food Storage Bag, Take Out, THANK YOU Print | 11.5" x 6" x 21" | 1 x 1000  | 1000        |
| 22-DG7     | Food Storage Bag, Take Out, DOGGIE Print    | 7" x 10" x 2"    | 1 x 1000  | 1000        |
| 22-FS069   | Food Storage Bag, Storage / Freezer         | 6.5" x 9"        | 1 x 2000  | 2000        |
| 22-F\$10   | Food Storage Bag, Storage / Freezer         | 10" X 14"        | 1 x 1000  | 1000        |
| 22-F\$1824 | Food Storage Bag, Storage / Freezer         | 18" X 24"        | 1 x 250   | 250         |
| 22-FS1830  | Food Storage Bag, Storage / Freezer         | 18" X 30"        | 1 x 200   | 200         |

FoodHandler® RECLOSABLE BAGS FOOD STORAGE BAGS 4

#### **SANDWICH BAGS**

# High Density (HDPE)

- Protects pre-portioned food from contamination
- Saddle pack items increase service speed
- Flip top for easy closure



| ITEM #     | DESCRIPTION                                     | SIZE          | CASE PACK | TOTAL UNITS |
|------------|---|---------------|-----------|-------------|
| 20-01      | Sandwich Bag, Flat Pack                         | 6.75" x 6.75" | 3 x 2000  | 6000        |
| 20-012M    | Sandwich Bag, Flat Pack                         | 6.5" x 6"     | 1 x 2000  | 2000        |
| 20-77      | Sandwich Bag, Flat Pack, LDPE LOW DENSITY       | 7" x 7"       | 1 x 2000  | 2000        |
| 21-11HD    | Hot Dog Bag, Saddle Pack, HOT DOG Print         | 5.25" x 8"    | 10 x 200  | 2000        |
| 21-13HDCL  | Hot Dog Bag, Saddle Pack, Unprinted             | 5.25" x 10"   | 10 x 200  | 2000        |
| 21-21HZ    | Sub Sandwich Bag, Saddle Pack                   | 10" x 5.5"    | 10 x 200  | 2000        |
| 21-6709    | Sandwich Bag, Saddle Pack, Unprinted            | 6.5" x 7"     | 10 x 200  | 2000        |
| 21-6709RB  | Sandwich Bag, "Rack in the Box" Pack, Unprinted | 6.5" x 7"     | 5 x 400   | 2000        |
| 21-6710HB  | Sandwich Bag, Saddle Pack, HAMBURGER Print      | 6.5" x 7"     | 10 x 200  | 2000        |
| 21-6711CB  | Sandwich Bag, Saddle Pack, CHEESEBURGER Print   | 6.5" x 7"     | 10 x 200  | 2000        |
| 21-6714CK  | Sandwich Bag, Saddle Pack, CHICKEN Print        | 6.5" x 7"     | 10 x 200  | 2000        |
| 21-671B    | Sandwich Bag, Saddle Pack, Blue Band Print      | 6.5" x 7"     | 10 x 200  | 2000        |
| 21-6720PYR | Sandwich, Food Guide MY PLATE Print             | 6.5" x 7"     | 10 x 200  | 2000        |

#### **DELI BAGS**

# High Density (HDPE), SADDLE PACK

- Fast-loading saddle bags
- Wide array of sizes for food fit
- Regular and Recloseable Deli print options



| ITEM #    | DESCRIPTION                      | SIZE        | CASE PACK | TOTAL UNITS |
|-----------|----------------------------------|-------------|-----------|-------------|
| 21-D89R   | Deli Bag, DELI Print             | 8.5" x 8.5" | 10 x 200  | 2000        |
| 21-DAY108 | Deli Bag, Day Of Week Print      | 10" x 8.5"  | 10 x 200  | 2000        |
| 21-DAY67  | Deli Bag, Day Of Week Print      | 6.5" x 7"   | 10 x 200  | 2000        |
| 21-DCL10  | Deli Bag, Unprinted              | 10" x 8.5"  | 10 x 200  | 2000        |
| 21-DF88   | Deli Bag, Unprinted              | 8.5" x 8.5" | 10 x 200  | 2000        |
| 21-DF910  | Deli Bag, DELI Print             | 10" x 8.5"  | 10 x 200  | 2000        |
| 21-SS710  | Deli Bag, Unprinted              | 7" x 10"    | 10 x 200  | 2000        |
| 21-ZP10   | Deli Bag, Reclosable, DELI Print | 10" x 8.5"  | 10 x 100  | 1000        |

### SNACK BAGS.

# High Density (HDPE), SADDLE PACK

- Protects pre-portioned food from contamination
- Saddle packed items increase service speed
- Flip top for easy closure



| ITEM #   | DESCRIPTION                      | SIZE         | CASE PACK | TOTAL UNITS |
|----------|----------------------------------|--------------|-----------|-------------|
| 21-044   | Snack Bag, Pickle Size Unprinted | 4" x 4.75"   | 10 x 200  | 2000        |
| 21-55    | Snack Bag, Unprinted             | 5.5" x 5.5"  | 10 x 200  | 2000        |
| 21-561CO | Snack Bag, COOKIE Print          | 5.75" x 5.5" | 10 x 200  | 2000        |

# **BUN PAN & RACK COVER BAGS**

- High or Low Density Polyethylene (HDPE) (LDPE)
- Keeps dough fresh
- Protects dough from contamination



| ITEM #    | DESCRIPTION                         | SIZE           | CASE PACK | TOTAL UNITS |
|-----------|-------------------------------------|----------------|-----------|-------------|
| 20-FS2135 | Bun Pan Bag, LDPE, Roll Pack        | 21" x 6" x 35" | 1 x 200   | 200         |
| 22-PB27   | Bun Pan Bag, HDPE, Flat Pack        | 27 " x 37"     | 1 x 200   | 200         |
| 22-SB52D  | Bun Pan Rack Cover, HDPE, Flat Pack | 52" x 80"      | 1 x 50    | 50          |
| 22-SBR52D | Bun Pan Rack Cover, HDPE, Roll Pack | 52" x 80"      | 1 x 50    | 50          |

#### **SILVERWARE BAGS**

High Density (HDPE) & Low Density (LDPE)

- Keeps flatware clean and sanitary
- Flip top for easy closure
- Flat or saddle pack styles



| ITEM #   | DESCRIPTION                       | SIZE              | CASE PACK | TOTAL UNITS |
|----------|-----------------------------------|-------------------|-----------|-------------|
| 20-21    | Silverware Bag, Flat Pack, HDPE   | 3.5" x 10" x 2"   | 5 x 1000  | 5000        |
| 20-212M  | Silverware Bag, Flat Pack, HDPE   | 3.5" x 10" x 2"   | 1 x 2000  | 2000        |
| 21-3.510 | Silverware Bag, Saddle Pack, HDPE | 3.5" x 10" x 2"   | 10 x 200  | 2000        |
| 20-310   | Silverware Bag, Flat Pack, LDPE   | 3.5" x 10" x 1.5" | 1 x 2000  | 2000        |

# **PAN LINERS**

High Density (HDPE), Flat Pack

- Reduces labor and cleaning costs
- Sizes for common steam table pans
- Prevents food from cooking onto pans



| ITEM #   | DESCRIPTION                      | SIZE        | CASE PACK | TOTAL UNITS |
|----------|----------------------------------|-------------|-----------|-------------|
| 22-FS12  | Pan Liner, 1/6 Steam Pan         | 12" x 18"   | 1 x 1000  | 1000        |
| 22-SI18  | Pan Liner, 1/3 and 1/4 Steam Pan | 18" x 14"   | 1 x 250   | 250         |
| 22-STL23 | Pan Liner, 1/2 Steam Pan         | 23.5" x 17" | 1 x 250   | 250         |
| 22-STL34 | Pan Liner, Full Steam Pan        | 34" x 25"   | 1 x 250   | 250         |

#### PAN PALS® HIGH HEAT PAN LINERS AND OVEN BAGS

Increase profits, food safety and HACCP compliance with PanPals® high-heat pan liners and bags. Made from nylon, PanPals® can withstand temperatures from -70°F to 400°F and come in sizes to fit anything from soup kettles to full size hotel pans. PanPals® will help reduce cleaning time, water use and keep grease and food from clogging drains.

# PAN PALS® NYLON HIGH HEAT **PAN LINERS**

#### Flat Pack

- Withstands oven temperatures up to 400 F
- Reduces labor and cleaning costs
- Wide size assortment for Round and Oblong pans



| ITEM #    | DESCRIPTION                                  | SIZE          | CASE PACK | TOTAL UNITS |
|-----------|--|---------------|-----------|-------------|
| 22-PL1318 | High Heat Pan Liner, 1/6 Steam Pan           | 13" x 18"     | 1 x 100   | 100         |
| 22-PL1914 | High Heat Pan Liner, 1/3 and 1/4 Steam Pan   | 19" x 14"     | 1 x 100   | 100         |
| 22-PL2028 | High Heat Pan Liner, Bun Pan                 | 20.5" x 28.5" | 1 x 100   | 100         |
| 22-PL2310 | High Heat Pan Liner, 1/2 Steam Pan           | 23" x 10"     | 1 x 100   | 100         |
| 22-PL2314 | High Heat Pan Liner, 1/2 Steam Pan, Deep     | 23" x 14"     | 1 x 100   | 100         |
| 22-PL3412 | High Heat Pan Liner, Full Steam Pan, Shallow | 34" x 12"     | 1 x 100   | 100         |
| 22-PL3418 | High Heat Pan Liner, Full Steam Pan, Deep    | 34" x 18"     | 1 x 50    | 50          |

# PAN PALS® NYLON HIGH HEAT **ROUND PAN LINERS** Flat Pack

- Cook, freeze and reheat in the same liner
- Prevents food scorching on bottom of pan
- Saves clean up



| ITEM #    | DESCRIPTION                     | SIZE      | CASE PACK | TOTAL UNITS |
|-----------|---------------------------------|-----------|-----------|-------------|
| 22-PL1215 | High Heat Pan Liner, 4 QT.      | 12" x 15" | 1 x 100   | 100         |
| 22-PL1515 | High Heat Pan Liner, 6 & 7 QT.  | 15" x 15" | 1 x 100   | 100         |
| 22-PL1820 | High Heat Pan Liner, 9 & 11 QT. | 18" x 20" | 1 x 100   | 100         |

# PAN PALS® NYLON HIGH HEAT **OVEN BAGS**

- Withstands oven temperatures up to 400 F
- Reduces labor and cleaning costs
- Size assortment to meet cooking needs



| ITEM #    | DESCRIPTION                | SIZE       | CASE PACK | TOTAL UNITS |
|-----------|----------------------------|------------|-----------|-------------|
| 22-OB1824 | High Heat Oven Bag, 11 Qt. | 18" x 24"  | 1 x 100   | 100         |
| 22-OB2418 | High Heat Oven Bag, Medium | 24 " x 18" | 1 x 100   | 100         |
| 22-OB3426 | High Heat Oven Bag, Turkey | 34" x 26"  | 1 x 50    | 50          |

#### FOODHANDLER® APPAREL

#### **POLY APRONS**

- High quality coverage for food service
- Tear resistant
- Long ties available



| ITEM #      | DESCRIPTION                           | SIZE      | CASE PACK | TOTAL UNITS |
|-------------|---------------------------------------|-----------|-----------|-------------|
| 250-011     | Apron Light Weight, White             | 24" x 42" | 10 x 100  | 1000        |
| 250-021     | Apron Light Weight, White             | 28" x 46" | 5 x 100   | 500         |
| 250-FH10    | Apron Regular Weight, Long Tie, White | 24" x 42" | 10 x 100  | 1000        |
| 250-FH20    | Apron Regular Weight, Long Tie, White | 28" x 46" | 5 x 100   | 500         |
| 250-FH3L    | Apron Heavy Weight, Long Tie, White   | 28" x 46" | 10 x 50   | 500         |
| 250-FH3L-CP | Apron Heavy Weight, Long Tie, White   | 28" x 46" | 4 x 50    | 200         |
| 250-FH4L    | Apron Heavy Weight, Long Tie, Clear   | 28" x 46" | 10 x 50   | 500         |
| 250-FH4L-CP | Apron Heavy Weight, Long Tie, Clear   | 28" x 46" | 4 x 50    | 200         |

#### **POLY BIBS**

- Adult size available Unprinted or with Lobster Print
- Catch pocket to protect from food spillage
- Assorted combo fun print pack in Child's Size



| ITEM #   | DESCRIPTION                                  | SIZE          | CASE PACK | TOTAL UNITS |
|----------|--|---------------|-----------|-------------|
| 200-011A | Adult Bib w/ 3" Pocket, Unprinted, White     | 15" x 20"     | 1 x 500   | 500         |
| 200-35L  | Adult Bib w/ 3" Pocket, Lobster Print, White | 15" x 20"     | 1 x 500   | 500         |
| 200-60C  | Child Bib w/ 2" Pocket, Fun Print, White     | 10.5" x 14.5" | 1 x 500   | 500         |

#### **HAIRNETS & BOUFFANTS**

- Lightweight, strong, and comfortable
- Protects food from contamination
- Black or Brown color options for Hairnets



| ITEM #      | DESCRIPTION                  | SIZE | CASE PACK | TOTAL UNITS |
|-------------|------------------------------|------|-----------|-------------|
| 300-575     | Bouffant Cap, Regular, White | 21"  | 5 x 100   | 500         |
| 300-675     | Bouffant Cap, Large, White   | 24"  | 5 x 100   | 500         |
| 305-FH20    | Hairnet, Regular, Brown      | 20"  | 10 x 144  | 1440        |
| 305-FH24    | Hairnet, Large, Brown        | 24"  | 10 x 144  | 1440        |
| 305-FH24-CP | Hairnet, Large, Brown        | 24"  | 4 x 144   | 576         |
| 305-FH54    | Hairnet, Large, Black        | 24"  | 10 x 144  | 1440        |
| 305-FH54-CP | Hairnet, Large, Black        | 24"  | 4 x 144   | 576         |

# FOODHANDLER® ACCESSORIES

#### **TABLE COVERS**

- Lightweight, durable and disposable
- Provides additional protective barrier for food
- Roll size allows for custom fit to any table length



| ITEM #   | DESCRIPTION         | SIZE        | CASE PACK | TOTAL UNITS |
|----------|---------------------|-------------|-----------|-------------|
| 500-300W | Table Covers, White | 40'' x 300' | 1 x 1     | 1           |

#### **RACKS**

- Heavy duty wire construction
- Easy one-at-a-time dispensing
- Helps increase speed of service



| ITEM #    | DESCRIPTION                  | SIZE               | CASE PACK | TOTAL UNITS |
|-----------|------------------------------|--------------------|-----------|-------------|
| 11-030    | Bag Saddle Rack, Wire, White | Saddle<br>Sandwich | 1         | 1           |
| 11-004-EA | Apron Rack, Wire             | Apron case         | 1         | 1           |

# FOODHANDLER® THE FOOD SAFETY EXPERTS

Among suppliers of foodservice disposables, FoodHandler was the first to focus on developing solutions specifically designed for safe food handling. And we continue to lead the way today.

Food contamination poses a serious and costly threat to all types of foodservice operations. So we remain committed to helping our customers reduce risk, with innovative products and programs that leverage the latest technologies to protect workers and customers alike.

FoodHandler gives you access to information and industry insights related to food safety. We are committed to helping keep our customers up to date on the most

assuring safe food handling. Plus, your FoodHandler representative is always available to provide food safety consultation and coordinate worker training to ensure that your business is protected.

advanced products and processes for

9 FoodHandler® ACCESSORIES